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CHAPTER I.
INTRODUCT ION

Ability to judge the true worth of what one
hears or reads is an asset, This ability to separate the’
false from the true, the important from the unimportant,
the relevant from the irrelevent, is essential to the
individual if he is to exercise his functions pr@perly,
and fulfill his responsibilities, in a democratic society.
It is the person who Qoes not see the fallacy in the
demagogues' talk or the absurdities in fanatical writ-
ings, who often becomes an obstacle and menace to the
social group.

Development of the critical attitude is pri-
marily a function of the school, The recitation offers
abundant opoortunity for training in answer evaluation
and criticism, |

And the guestionsat once arise;r

Bow much are the schools really doing for the
child in this respect?

Is the child being trained to criticise his
classmates' answers, or is he not?

Does the school recognize the importance of



this phase of the child's training?

In view of the fact that this training in an-
swer evaluation, so essentisl to the welfare of the in-
dividual and the community, should be given much atten-
tion, it is thought desirsble that an investigation be
made to show the actual facts in regard to pupils' abil-

ity to evaluate answers,

STATEMENT OF THE PROBLEM

The purpose of this study is to determine how
well pupils are sble to evaluate answers, Information
on such guestions as the following, will be sought by
the investigation:

7o what extent are pupils able to tell whether
an answer is & good answer or g poor answer?

Are pupils able to grade certain types of
answers better than other types?

Do schools differ much in the gbility of their
pupils in answer evaluation?

Do pupils in schools where special attention is

given to criticism of answers by the pupils have greater

ability in enswer evaluation than do the pupils in schools

where answer criticism is not stressed?



SET IV. DIFFICULTY 7 '

Read this and then write the answers to 1, 2, 3 and 4. Read it
again if you need to.

You need a coal range in winter for kitchen warmth and for
continuous hot-water supply, but in summer when you want a
cool kitchen and less hot water, a gas range is better. The xyz
ovens are safe. In the end-ovens there is an extra set of burners
for broiling.

I. What effect has the use of a gas rangé instead of a coal range

upon the temperature of the kitchen?

2. For what purpose is the extra set of burners? ..

3- In what part of the stove are they situated?

4. During what season of the year is a gas range preferable?

Read this and then write the answers to 5, 6 and 7. Read it
again if you need to.

Hay-fever is a very painful, though not a dangerous, disease.
It is like a very severe cold in the head, except that it lasts much
longer. The nose runs; the eyes are sore; the person sneezes;
he feels unable to think or work. Sometimes he has great diffi-
culty in breathing. Hay-fever is not caused by hay, but by the
pollen from certain weeds and flowers. Only a small number of
people get this-disease, perhaps one person in fifty. Most of those
who do get it, can avoid it by going to'live in certain places during
the summer and fall. Almost every one can find some place
where he does not suffer from hay-fever.

5. What is the cause of hay-fever?

6. How large a percentage of people get hay-fever ...

7. During what seasons of the year would a person have the

SCALE ALPHA 2. FOR MEASURING THE UNDERSTANDING OF SENTENCES. PART II .

Write your name hcre

"SET V. DIFFICULTY 8

Read this and then write the answers. Read it again if you
need to.

Tt may seem at first thought that every boy and girl who goes

to school ought to do all the work that the teacher wishes done.

But sometimes other duties prevent even the best boy or girl from
doing so. If a boy’s or girl's father died and he had to work
afternoons and evenings to earn money to help his mother, such

might be the case. A good girl might let her lessons go undone in |

order to help her mother by taking care of the baby.

1. What is it that might seem at first thought to be true, but

really is false?

2, What might be the effect of his father’s death upon the way a

boy spent his time?

3. Who is mentioned in the paragraph as the person who desires

to have all lessons completely done?.

4. In these two lines draw a line under every 5 that comes just
after a 2, unless the 2 comes just after ag. If that is the case,
draw a line under the next figure after the 5:

536254174257654925 3
4735239258479256125

Read this and then write the answers td”

, 6, 7 and 8. Read it
again if you need to. , , ,

In Franklin, attendance upon school is requlred of every child
between the ages of seven and fourteen on every day when school
is in session unless the child is so ill as to be unable to go to
school, or some person in his house is ill thh a contagious disease,
or the roads are impassable, ;

5. What is the general topic of the paragfiph?

1
6. How many cases are stated which make absence excusable?

7. \What kind of illness may permit a boy to stay away from
school, even though he is not sick himself?

disease described in the paragraph?.

8. What condition in a pupil would justifs' his non-attendance?

{
1

‘Write your age years months

SET VI. DIFFICULTY 824

Read this and then write the answers to 1, 2, 3and 4. Read it
again if you need to.

We often think of a rich man as one who has much money, as
if money and wealth meant the same thing. However, money is
only one sort of wealth and some money is not exactly wealth.
A twenty dollar bill, for example, is only someone’s promise to
pay so much gold. Wealth means land, houses, food, clothes,

| jewels, tools, gold, silver, coal, iron—anything that a man can
l have(‘ that satisfies some want. Money means something which a
- person can exchange for any one of many sorts of wealth. The

main value of any piece of wealth, such as a barrel of flour, a.

house, or a cow is the direct use you can make of it. The value it
has by reason of what you can exchange it for is of less import-
ance. The main value of any piece of money, such as a silver

dollar, a ten-dollar bill, or a nickel, is not any direct use you can

make of it.

Its main value 4s by reason of what you can exchange
it for. :

1. In what does the main value of wealth lie, according to the

paragraph?

2. In what does the main value of money lie, according to the

2

paragraph?

[y

3. Name something that is money, but is not exactly wealth.

4. What do you suppose is the thing which is defined by business

men as “a medium of exchange”?.

SET VIL DIFFICULTY 9

Read these paragraphs and then write the answers to questions
1, 2,3, 4 and 5. Read the paragraphs again if you need to.

The most serious objection against the government ownership
of railways is connected with the question of rates. Every change
in rates means a change in the relative advantages of one part of
the country as compared with another part of the country.

Under national ownership and management of the railways
there would be a continual struggle of section with section for
advantageous rates, and unless the rate problem could be worked
out in some simple, easily comprehended way which would com- .
mend itself to the public at large, this struggle of section with
section would scarcely fail to prove disastrous.

Perhaps the greatest single danger in the private ownership of
railways is that it tends first to form classes, and then to array
class against class. It forms classes in the very nature of the case.
First we have the classes in the railway service. About one per
cent. of those engaged in the service are officers and the rest
employees, and the contrasts among these employees in remun-
eration and in conditions of employment are vast, and, whether
they ought to do so or not, do have a tendency to cultivate bitter-
ness and class division.

There is still another way in which the private ownership of
railways tends to class formation, and that is through the favorit-
ism shown to individuals in the community, which is largely
responsible for the bad features of the trust movement. Every-
where throughout the United States we can find manufacturers
and shippers who have been favored, and if there are any favored
it is necessarily at the expense of others. We have favored
classes, and this tends to promote class formation and to incite
one class to hate another.

I. What is stated as the cause that would produce sectionalism?

2. Under the present condition of ownership of railways, in what
two ways does class formation occur?

3. Which is the supposedly favored class in the railway service?

4. What is stated to have been a main cause of the undesirable

results of the replacement of many small manufacturing and
selling concerns by a few large ones?

5. By what means, according to the paragraph, might disaster

from sectionalism under public ownership be avoided?......



How do girls and boys compare in their ability
to evaluate answers?
Are pupils proficient in recognizing the type

of faults in answers?

DERIVATION O THE T&ST

SOURCE OF MATERIAL:

The Thorndike "Scale Alpha 2" silent reading
test was given in the schools of QOsborne Kansas by the
class in Educational Statistices from the University
of Xansas., (A copy of the "Thorndike Silent Reading
Test" is placed here for reference),

From the answers given by the eighth grade of
the QOsborne schools, a list of all types of answers
given and the freguency of each type's occurrence was
made up. From this list of answers, fifteen of those
answers occurring the'greatest number of times were se-
lected for a preliminsary test in "Answer Evaluation",
Thigs preliminary test was for the purpose of securing
information needed in constructing a test for use in a
more comprehensive study of answer evaluation, The
preliminary test was given to a group of 22 high school

freghmen, English students,



The test, which was given orally, was as

follows:

PRELIMINARY TEST

DIRECTIONS TO PUPILS:
"gach of you will need two sheets of paper and
a pencil or fountain pen,

Write’your name and age at the top of each
sheet of paper.

You will be given an opportunity to grade some
answers which I shall read to you after awhile, I am
going to read a paragravh to you, After I am thru read-
ing the paragraph, I am going to ask you to write the
question that I shall dictate. The question I shall give
you was asked thousands of students about the paragraph
I will read you. After you have written the guestion, I
am going to ask you to write Some of the answers that
others have given to this question., Some of the answers
are good and some are unsatisfactory., All you are to do
is to grade the answers. You will be told later what
marks to use in grading. Listen closely while I read

the paragraph."

(Paragraph "Difficulty 8" is read to the class)

"Now write this question st the top of your paper:



what is the general topic of the sentence?

Now just below where you wrote the question,

write these answers leaving a blank line between each

answer, Number each answer 1, 2, 3, etc.

Here are the answers:

ln

Attendance at school in Franklin,

Attendance at school,

Children skould be in school.

If someone is i1l or the roads are
impassable,

School.

You may read the guestion which you wrote at the

top of the page. After I read the paragraph again you

may grade the answers. If you think an answer is ex-

‘cellent, write "E" in the blank line under the answer;

if you think an answer is good, write "G" in the blank

line under the answer; if you think sn answer is fair,

write "®" under it; if you think it is poor, write "Poor"

under it and if it is unsatisfactory, you will of course

write "U" under the answer,

I will read the paragraph now,

(Read paragraph "Difficulty"8" again)

You may grade the answers now. Remember, if you

think the answer is excellént, write "E" under it, if it



is good write "G" under it, if it is fair write "F" under

it, if it is poor write "P" under it and of course if you

think the answer is unsatisfactory, write "U" under it.
(After all were thru grading they were told)

Look at the answers again, Some of the answers
are incomplete., An incomplete answer is one that does |
npt tell enough. Some answers are o0ff the subject, Some
answers are too broad or indefinite.,

If you think an answer is incomplete write
"Incomplete under ity if you think the answer is off
the subject, write "Off subject" under it; if you think
it contains unneéessary matériai or is too broad, you
may write "Poo broad" under it. Write one or more of these
three words under each answer: "Incomplete, Off Subject,
Pfoo Broad",

(Give time to grade the answers),

I am going to read another paragravyh and then
give you some questions and answers, The answers are to
be graded the same way as beforg, Here is the paragraph:

(Read paragraph "Difficulty 9m)

This guestion was asked about the paragraph I
just read. Write this question at the top of your page:

Under the present condition of ownership of

railways, in what two ways does class formetion occur?



Write the following enswers, leaving a blank line

between each answer:

1,
2‘.
3.

5.

Thru favoritism shown individuals,

Detween the officers and the employees,

National ownership and management of the
railroad,

Between officers and employees and between
favored and unfavored shippers.

In the government and the people.

Here is another guestion:

Which is the supposedly favored cless in the

railway service?

And here are some answers which students gave

~for the guestion you just wrote:

1.
2.

The officers.

Responsible for bad features of the trust
company .

Employees,

Favoritism shown to individuals.

The officers and certain people in the

community,

Now listen closely while [ read the paragraph:

again,



(Read paragraph "Difficulty 9" again)

Now you msy grade the answers., First tell
whether the answer is excellent, good, fair, pocr or un-
satisfactory by writing one of the letters "y, "g", "F",
wpon wgw  ynder it. Second tell what is wrong with thé
enswer by writing one or more of the following words under

it: "Incomplete™, "Off subject™, "Too broad", "



TABLE I.

Showing the variation of grades given the
same snswers, by 22 high school freshmen,
(Oread Training School)

QUESTION I,

Answer : :

Mo, E: G : P 0P U
1 3: B:11: 2 3
2 2 % 1. 5 7 0
3 5: 5 L. o4 6
4 7. 7. 6. 1 0
5 5. 3: 7. 8 7

;QUESTION 2.

b1 s 7. 8. a 1
2 1 7. 2 2 8
3 0 4 9. 4 5
4 3 8. 2. 4 5
5 5 7 6. 3 2

 QUBSTION 3,

L1 i 6. 3. 2 . 1

2 .3 8. 9: 3 0

3 8 2. 5. 6 1
4 3 5. 1. 4 9
5 5 5. 6. 4 7




Table showing veriation in faults recognized
in the same answers, by 22 Oread Training
School Pupils,

QUESTION &2,

Answer - Incom- : off z Too
Number V;fplete ! Subjeect : Brosad
1 } 15 S 5 . 2
2 .15 i g -

3 L4 i PR 7
R Y S 9
5 6 7 2

. QUESTION 3.

1 .12 ; 0 1
2 : 3 : 11 1
5 15 ; 1 1
4 § 6 ‘? 5 5
5 ‘ 4 , 4 3
QUESTION 1
18 5
2 Y i 0 2
3 i 8 ; 7 1
4 : 5 : 12 3
5 21 . 0 2
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CHAPTER II.

LANSWER BVALUATION TEST

The results from this preliminary test indi-
cated that pupils have very little ability in evalua-
ting answers and in recognizing faults in answers,

In order to make a more‘comprehensive study of
the problem, it was decided to give a test in answer
evaluation to a large group ofpupils. The test given
consisted of 6 lists of answers, 37 gnswers in all,

Each list of snswers contained from five to seven
answers, varying in type, but all the answers in each
list were answers to the same question. The answers
were selected from the list made up from the Osborne
eighth grade results,

The test in answer evaluation is shown on the
following page. With each test are three paragraphs upon
which the questions snd answers are baéed._‘These para-_
graphs are from "Thorndike's Silent Reading Test,

Scale Alpha 2-difficulties 8, 8-2/5 and 9", and suitable
for eighth grade pupils.

The test described was given to 343 eighth
grade vupils., The pupils represent the entire upper

grade of thrce different cities and a portion of the



This is an exercise in grading answers, First read the
paragraph you are referred to. Then read the question.
Then grade the answers by writing one of the following
words in the blank space under the answer: Excellent,
Good, Fair, Poor, Unsatisfactory. Next if anything is
wrong with the answer, tell what is wrong by writing one
of the following words under the answer: Incomplete,
Off the subject, Too broad or Indefinite.

Read Difficulty 8, Question 5. GROUP I.
What is the general topic of the paragraph?
Answers:

1. School.

2. The Schools of Franklin.

3. Every child between seven and fourteen should go
to school.

4, Attendance at.school in Franklin.

Read Difficulty 9, Question 2.
Under the present condition of ownership of railways,

in what two ways does class formation occur?
Answers: GROUP 4.

1. Private ownership forms classes and then arrays
class against class. '

N

Between the officers and the employees.

3. Thru favoritism shown to individuals.

4. Between section and section on railroad rates.

5. Between officers and employées and between favored
and unfavored shippers.

6. National ownership and management of the railroad. »

5. About going to school.

8. School laws in Franklin.

7. All children must go to school if possible.

' .Read Difficulty 8, Question 8. GROUP 2.
What condition in a pupil wculd justify his non-
attendance?
An=wers:
1. When the roads are impassable.

2. If he was fifteen.

3. Too sick to go.

4. When the weather is bad.

Read Difficulty 9, Question 3. GROUP 5.

Which is the supposedly favored class in the railway
service? :

-Answers:

1. Tt forms classes in the very nature of the case.

2. The large manufacturers and shippers of the com-
munity. '

3. Officers and the employees.

4. Employees.

5. The officers.

6. Tndividuals in the community.

5. Sick, hurt or impassable roads.

Read Difficulty 824, Question I.GROGP 5'

In what does the main value of wealth lie according
to the paragraph? ’

Answers: 4

1. Land, houses, food, clothes, jewels, tdols, gold, silver,-

coal and iron.

2. The direct use you can tnake of it.

3. Is anything that you can own.

4. Money is only one sort of wealth, and some money is
not wealth.

5. Exchanging money for something of value.

6. Anything that a man can have that satisfies some
want.

7. The government.

" Read Difficulty 9, Question 5. GROUP 6
By what means, according to the paragraph, might
disaster from sectionalism under public ownership be
avoided?
Answers: _
1. It would cause one class to hate another.

2. Some simple way.

3. By not favoring the classes.

4, The rate problem would be worked out in some
simple way which would commend itself to the pub-
lic at large.

5. By having uniform rates all over the United States.

6. An easily apprehended way.
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upper grede in two other cities, Six schools are re-
presented, The schools may be designated as Schools
A, B, ¢, D, E, P, and a seventh group,which is a branch
of school B,, may be called School &, |

School A is & Junior high school in Ottawa
Kansas, The upper grade conéists of 115 pupils,.

School B is an ordinary elementary school in
Kansas City Missouri. There are 81 upper gréde pupils
in this school who have the benefit of the socialized
recitation., A portion of the upper grade - 19 above
the 8L - in this school do not receive instruction by
the socialized recitation.method.

School ¢ is also in Kansas City Missouri,
There are 63 pupils in the upper grade of School C,
However, School ¢ does not ufilizerthe socialized
recitation as does the other Xensas City school,
School B,

School D is & Junior High School in Lawrence
Kansas, 54 pupils in the upper grade were tested,

| School B is an elementary school in Baldwin

Kansas, The upper grade consists of 24 pupils,

School B is an elementary school in Budora

Kansas. The upper grade consists of 13 pupils.



ADMINISTRATION OF THE TESTING.

(A1l tests were given by the author, in person)

The test in aanswer evaluation was given in
all the schools under practically similaf conditions.
The "Thorndike Silent Reading Test Scale Alpha 8" was
given first so that the pupils would be familiar with
the material to be employed in the answer evaluation
test, It was arranged to give the test in answer eval-
uation some hours after the Thorndike Silent Reading
Test was given, In this way the element of fatigue
was eliminated,

The test sheets were distributed and the

following directions read to the class:

Directions given td pupils:

"This is an exercise in grading answers, You
will be given an opportunity to grade some answers and
then tell what is wrong with the snswers. Look at the
directions in the upper left hand corner of the large
sheet, The first.thing the directions tell us to do
is to read the paragraph referred to. Just below where
the directions are printed it says: 'Read difficulty 8
guestion 5". Difficulty 8 is the small paragraph on

the small sheet, Question 5 is the question printed

13.
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just below where it says, 'tuestion Five', Just below
the guestion are some answers that differant pupils
have given to the same question. Remember these are
all answers to the same question but given by 4different
pupils. Look at the directions agsin, we are told to
grade the answers by using one of the five words, -~
"Excellent", "good", "Fair", "Poor", "Unsatisfactory".
The answers are to be graded. Grade the answers by
writing one of the words "Zxcellent™, "Good", "pair"™,
"poor", or "Unsatisfactory” in the left end of the blank
line under the answer, The next thing the directions
say to do is to tell what is wrong with each answer.
You are to tell what is wrong with each answer which

is wrong by writing one or more of the following words
or phrases in the right end of the blank line under the
angwer,- "Incomplete™, "Off subjectﬁ, "Moo broad", or
"Indefinite", An incomplete answer is an answer which
does not give all of the meaning or idea. Ior example,
if you should ask me the question - 'What is money made
of?' and I should answer *Honey is made of paper', that
would be an incomplete answer for money is mede from many
things besides paper. Here is an example qf an answer
that is too broad,- You ask me the question, 'What
products are raised in Kensas?' and I answer, 'Agricultural

products,' Such an answer is too broad because all
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agricultural products are not raised in Kansas,

If you should ask me the qguestion, 'Where is
Kansas City?' and I should answer, 'Kansgas City is in
the United Stetes.' , such an answer would be an in-
definite answer. This enswer does not tell very de-
finitely or exsctly where Kansas City is.

Now remember you are first to grade the answers
by using oné of the five Words "Excellent", "Good", "RFair",
"Poor", "Unsatisfactory", and second tell what is wrong
with the answer, if it is wrong, by writing one or more
of the following words or phrases under the answer:
"Incomplete™,"0ff Subject", "Too bromd", or "Indefinite",

Are there any who do not understand exactly what
is to be aone? Ready go!ln

(Pime allowed, 40 minutes)

METHOL OF SCORING THE TEST
THE STANDARD: |
By the standard of the answer is meant the
grade the answer should have, The standard was determined
by a careful study of the parégraphs upon which the gues-
tions and answers are based and by reference to the Thorndike
key for grading the answers, Employment of the Thorndike

key in srriving at the standard grade for each answer,



This is an exercise in grading answers. .First read the
- paragraph you are referred to. Then read the question.
Then grade the answers by writing one of the following
words in the blank space under the answer: Excellent,
Good, Fair, Poor, Unsatisfactory. Next if anything is
wrong with the answer, tell what is wrong by writing one
of the following words under the answer: Incomplete,
Off the subject, Too broad or Indefinite.

Read Difficulty 8, Question 5.
What is the general topic of the paragraiph?

Read Difficulty 9, Question 2,

Under the present condition of ownership of railways,
in what two ways does class formation occur?

- Answers:

1. Private ownership forms classes and then arrays
class against class.

Unsatisfactory Too broad
2. Between the officers and the employees.
Fair Incomplete

Answers: 3. Thru favoritism shown to individuals.
Luneh®seactory Too broad Pair incomnlete
4. Between section and section on railroad rates.
2. The Schools of Franklin. ¢ 3
Pair Too broad Unsatisfactory Off subject
. - 5. Between officers and employees and between favored
3. Every child between seven and fourteen should go d unt d shi
t0 SohooL. and unfavored shippers.
Fair Incomplete Excellent
4. Attendance at school in Franklin. 6. National ownership and management of the railroad.
........ Excellent Unsatisfactory Off subject
5. About going to school. m a e
Fair Too broa Read Difficulty 9, Question 3.
6. School laws in Franklin. m Which is the supposedly favored class in the railway -
Good Too broed service?
7. All children must go to school if possible. Answers:
Unsatisfactory - Off subject

R_ead Difficulty 8, Question 8.
What condition in a pupil weculd justify his non-

1. It forms classes in the very nature of the case.
-Unsatisfactory  Incomplete (0S)
2. The large manufacturers and shippers of the com-

munity.

attendance? Unsatisfactory Off subject
AL e 3. Officers and the employees.

1. When the roads are impassable. Unsatisfactory TOO broad_

e .

" Fair Incomplete Unsatisfactory Off subject

3. Too sick to go. ‘ 5. The officers.
Excellen% Excellent

4. When the weather is bad. 8. Individuals in the community.

" Insatisfactory Off sunject Unsatisfactory Off subject’

5. Sick, hurt or impassable roads. _ 7. The government. ~
Fair .2oo broad Unssatisfactory Off subject

Read Difficulty 824, Question 1.
In what does the main value of wealth lie according
to the paragraph?
Answers:
1. Land, houses, food, clothes, jewels, tools, gold, silver,
coal and iron.

Ursatisfactory Off subject

2. The direct use you can niake of it.

nBxcellent

3. Is anything that you can own
unsatisfactory Off subject

4. Money is only one sort of wealth, and some money is
not wealth. .

............. unsatisfactory . Off subject

5. Exchanging money for something of value.
Unsatisfactory subject

6. Anything that a man can have that satisfies some
Eﬁgi Off subject

Read Difficulty 9, Question 5.

By what means, according to the paragraph mlght
disaster from sectionalism under public ownership be :

avoided?
Answers:
1. Tt would cause one class to hate another.

‘Unsatisfactory Off subject

2. Some simple way.

s

Poor Incomplete
3. By not favoring the classes. .
Unsatisfactory Off subject

4. The rate problem would be worked out in some
simple way which would commend itself to the pub-
lic at large.

Excellent

5. By having uniform rates all the mted States.
Poor %f% Ject

6. An easily apprehended way.

Fair Incmplete
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insured a sound end reliable standard,

'In eddition to the methods just mentioned, amther
method was used for insuring a reliable standard, Fiftéén
teachers were requested to evaluate the answers, The
standard adopted was based, in part, on the judgment of
these teachers.

Any variation from the standard in grading may
be considered as an error in judgment on the part of the
pupil, For example, if a pupil grades an answer "Excellent"
when the standard is "Uuszstisfactory™ there is an error
or variation from the standard of four points or units,

Similarly, if an answer,the standard grade of
which is "Excellent", is graded "Unsatisfactory™, theie
is an error or variation from standard of-4 units, The
minus sign is simply used to show that the variation is
below standard instead of above,

The standard adopted for each answer is shown
on the preceding page. Notice Answer 1 Growp 1,- its
stendard grade is "Unsatistfactory", its main fault is
"Poo broad™, |
(The following abbreviations are used in this study:

Ex.= Excellent, G = Good, P = Fair, P= Poor, U =

it

Unsetisfactory, Inc, = Incomplete, 0.S. Off Subject,

T.Br.= Too brogd,.)
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APPLICATION OF THE STANDARD IN SCORIING:

The marks used in grading are "Excellent", "Good",
"pair", “poor", "Unsatisfactory". The mark "Excellent" is
four units above the mark "Unsatisfactory", Similarly, the
mark "Unsatisfactory'is four‘units below "Excellent"™, onb
the same basis, "Fair" is two units below "Excellent! and
two units above "Unsatisfactory". . The variation of any
one of the marks from a specified merk is determined as
indicated in the illustration just given, In this menner

the following table for scoring is obtained:

;Standard ; Variatbons from Standard

Ex G r, P U
iExcellent . 0 -1 -2 : =3 -4
- Good P10 21 . -2 -3
zFair : 2 1 0] -1 -2
zPoor : 3 2 1 0 C =1
éUnsatis~

factory : 4 : 3 : 2 : 1 : 0

The table reads: If an excellent answer is

marked "Excellent", the variation from the standard is

0. LIf an excellent answer is marked "Good", the variation



" of the following words under the answer:

This is an exercise in grading answers. First read the
paragraph you are referred to. Then read the question.
Then grade the answers by writing one of the following
words in the blank space under the answer: Excellent,
Good, Fair, Poor, Unsatisfactory. Next if anything is
wrong with the answer, tell what is wrong by writing one
Incomplete,

Off the subject, Too broad or Indefinite.

Read Difficuity 8, Question 5. 6521
What is the general topic of the paragraph? 42

Answers: 63 = variation.
1. School. : .
O Wgip incomplete
2. The Schools of Franklin.
I Good Incomplete
3. Every child between seven and fourteen should go
to school.

2 Unsetisfactory Off subject

4. ‘Attendance at school in Franklin.

Read Difficulty 9, Question 2.

Under the present condition of ownership of railways,
in what two ways does class formation occur?

Answers:

Private ownership forms classes and then arrays
class against class.

4 Txcellent
Between the officers and the employees.

-1 Poor Off subject
3. Thru favoriﬁié}ﬁ shown to individuals.
2 Fair Incomplete

4. Between section and section on railroad rates.

3 Good Izcomplete

5. Between officers and employees and between favored

and unfavored shippers.

-4 Unsatisfactory Too broad

6. National ownership and managsement of the railroad.

Off subdeot

1.

2.

- Excellent . . . .. 2 Fair
5. About going to school. ~
-1 Poor - Too broad Read Difficulty 9, Question 3.

6. School laws in Franklin.
1 Excellent
All children must go to school if possible.

'%hsatisfaetory - Off the subject

Read Difficulty 8, Question 8.
What condition in a pupil wculd justify his non-
attendance? - '

Which is the supposedly favored class in the railway
serviee? ‘ '

Answers:
1. It forms classes in the very nature of the case.
1 Poor Off subject

2. Thelarge manufacturers and shippers of the com-
munity.

4 Excellent

1 i;l;werts}; d . bl 3. Officers and the employees. -
. en the roads are impassable. :

5 Good o Incomplete i FF,B' + rl : I,nc omple‘be

2, 1If he was fifteen, l. Hmployees. Too brosad

-2 Unsatisfactory Off subject Eoor

3. Too sick to go. 5 The officers.

-1 Good Too broad +32o0r Too broad

4, When the weather is bad. 6. Individuals in the community.

3 Good 3 Good Incomplete
5. Sick, hurt or impassable roads. ; , 7. The government. ‘ '
Bxcellent ' 1 Poor Too broad

" Read Difficulty 824, Question 1.
In what does the main value of wealth lie according
tc the paragraph?
Answers:
Land, houses, food, clothes, jewels, tools, gold, silver,
coal and iron.
4Excellent
2. The direct use you can iiake of it. :
-4 Unsatisfactory Too broad
Is anything that you can own. -

1l Poor Off subjeét

1.

3.

4. Money is only one sort of wealth, and some money is

not wealth.

______ 2 Pair N Too broad
5. Exchanging money for something of value.

Ungatisfactory Too broad

6. Anything that a man can have that satisfies some
... want. .
‘»Jnsatisfaetory -

Too broad

Read Difficulty 9, Question 5.

By what means, according t» the paragraph, might ‘
-disaster from sectionalism under public ownership be
avoided?

Answers:
1, Tt wonld cause one class to hate another.
Unsatisfoctoxry TC0 broed
2. Some simple way.
Poor Too broad
3. By not favoring the classes. '
Unseatisfactory Too broad

4. The rate problem would be worked out in some
simple way which would commend itself to the pub-
lic at large. '

~1 Good Incomplete

5. By having uniform rates all over the United States.
-1 Unsatisgsfactory Too broad

An easily apprehended way.
2 Excellent

- 6.
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frbm the standard is ~1; if an excellent answer is marked
"pair", the varistion from the standard is -2, ete.

As shown on the sample test facing this page,
the total vaiation for each pupil is the sum of the varia-

tions of individual answers without regard to sign.
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CHAPTER III.

VARIATION 1IN MARKING
Results -~ Table II.

Table II. shows how many pupils graded an answer
"Bxcellent", how many graded an answexr "Good", "Fair",
"poor", or "Unsatisfactory", This is shown for all
37 answers,

This table also shows the total number of
pupils who graded "Off Standard" for each of the 37
answers ., Thus the total number of pupils in School
A who graded answer 1 "Off standard" was 86,
| The percent of pupils who graded "Off Stendard™
is shown in the last column of the table, For answer 1,
grow 1, School A, the percent who graded "off Standard"
is 81,

The table is divided into sections, each sec-
tion giving the results for a certain school. There are
six parts to a section,~- one part showiﬁg the results
for Groﬁp 1, the hext vart for Group 2, ete, Refer tb
Answer Evaluation Test, following page 11,

After the tables showing the results for

separate schools, are tables showing the results for
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all the schools combined, for the entire group of boys

and for the entire group of girls.

The following abbfeviations

tables,- E = Excellent, ¢ = Good, P

il

U

The table

Column

Column

Column

Column

golumn

Column

Column

gcolumn

Column

Unsatisfactory,

1,
2,

Fair, P

St = Standard, % = precent,

following shows:

Number of the answer,
Nunber of pupils who graded
"Excellent™,

Number of pupils who graded
"Good" .

Tumber of pupils who graded
"pair®,

Number of pupils who grsaGed
"Poor" .

Number of pupils who graded

"Unsatisfactory",

the

the

the

the

the

are used in the

= Ppoor,

answer

answer

answer

answer

answer

Gives the standard, i.e, the way fhe

answer should have been graded.

" Shows the total number of pupils who

graded the answer "Qff Standard".

Shows the percent of pupils who graded

the answer "0ff Standaran,



TABLE SHOWING THE NUMBER OF PUPILS WHO GRADED EACH OF 37

TABLE II.
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ANSWERS E, ¢, ¥, P, U, and the % who graded OFF STANDARD.
1 2 3 4 : 56 : 6 7 8 : 9 -
: : Pagell:
:SCHOOL A GROUP 1 (Refer to test following :
Imswer: : . i & . .
o, : = G r P : U st . Off :per- :
: : : 8t. :cent :
: s . :offst:
1 6 15 ' 44 28l ' 19 U 86 : g1
2 . 16 22 * 42 13 7 F 98 : 58
3 .27 . 21 [ 19 &0 9 F 83 * 81
. 4 i85 .3 :10 . 6 [ b E 51 48
5 6 5 35 . 15 . 7 F 63 ° 64 |
6 a4z .21 .2 11 1 4 G 78 ¢ 70
7 28 29 22 13 8 U 92 § 92
GROUP 2
1 28 : 3 24 : 16 : 4 U 98 : 96
: 2 .20 :19 : 24 : 31 8 F 84 . 78
© % . B0 .30 :20 4 2 E 57 . 53
4 .12 .27 . 39 22 % U 100 : 97
5 .72 :17 : 8 ) 4 F 95 . 95.9:
GROUP 3
I ’71v . 14 1 «+ 8 4 U « 106 + 96
5 . 28 25 21 : 22 . 4 B 7e . 78
3 .11 :19 . 35 .22 . 10 U 87 . 90
4 11 : 17 . 30 - 32 . 8 U 90 : 91
5 .14 : 24 .25 .27 : 5 U 90 : 94
6 .52 : 20 :16:10 : B3 P 90 : 90




GROUP 4

E G F : P : U 0Ff .. Per- -

: : St. ;cent

. | . st

1 .59 .25 :15 . 16 6 U . 95 . 94
5 13z .25 ;20 . 9 5 . P .66 | 69
3 i 32 27 ig26 11 : B ® . 83 . 76
4 .17 51 23 . 21 4 U . 92 . 95
5 40 25 17 ; 11 1 E 54 57
6 . 23 19 . 26 . 16 4 U . 84 [ 95
L 5 10 lVGR??;;g?S ;. 19 U 69 8Z
2 . 46 B ;11 . o8 . 4 U 80 . 95
3 20 21 27 i 12 4 U 80 95
4 . 8 24 .15 i29 : 6 . U .72 . 92
5 &0 15 18 § 20 9 E 62 75
6 : 20 21 ;18 ¢ 17 6 U . 76 1 92
7 12 12 ; 12 i 35 i 12 U 71 85
1 i18 116 . 9 i26 1 6 U .68 ;01
2 5 9 .20 .27 .10 P . 44 : 66
5 . 22 2% .15 .15 . 2 U iz . 98
4 i 44 :: 18 9 : 3 : 2 5 .32 . 42
5 : 41 21 7 4 ;- P .75 . 95
6 : 10 26 i19 11 & 5 F . 5L : 72

ae v

Median % Off Standard = 91
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-SCHO0L B
: GROUP 1
: Ans.,: Ll . H g,
No,: & G : ® P : U. st.:0ff .per-
: H : + 8t., :cent
H : Off
' :St.
1 1L Z ;AN 20 16 g . 60 79
2 7 9 22 . 21 B P . 42 65
5 4 . 19 25 20 8 P . 5O 66
4 36 21 10 6 3 E 40 54
5 4 20 : 23 . 26 o P . 52 70
6 . 40 18 12 7. 5 G 61 v
7 111 .25 .21 .16 . 5 U .73 . 95
GROUP 2
1. 15 . 18 20 : 10 14 U : 63 : 86
2. 4. 4 .2 : 28 28 P : 58 75
3. 28 : 21 22 2 3 E . 48 63
4: 1. 15 : 32 :18 :10 . U - 76 88
5 : 46 : 19 7 4 2 Fo. 71 91
GROUP 3
1. 31 . 23 8 : 12 3 : U 74 . 96
2. 23 . 22 . 17 . 12 5 E : 56 70
3. 8:: 8 26 . 20 5 U - 72 .. 93
4. B+ 9 .17 : 28 : 18 U s B7 . 76
5. 12 . 14 17 . 25 5 U : 66 : 93
6: 22 : 25 :10 :10 : 4 : P :79 :78
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:SCHOOL C

.
»

: Ans.,

er 2% we o ¢ e o

"3 e® sa oo

?9 o8 s oo e as o

No.

(&

GROUP 1

St

: Oft . Per-:

St.:Cent :
0ff
:S5T,

= O o, b

s 11

20

18

P
20 : 8

S 15+ 10

. 21

Y]

AV I S o ¢

. 10

H MM

g @ = o

a9 im0
TR
D59 : 66
D24 . 36
::%268

61 : 84

.. B9 . 95

[AV I o

(2 B 1SS O

. 14

: 19

13

GROUP &

.
.

5+ 6

: 12 . 12

9 i 2

;19 . 11

5 : 2
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10

b
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D30 . 49
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GROUP &

(o I G T - S A
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e ss oe we

: 16

14
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16
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10

. 19

18
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2 i 4
6 & 8
16 ;14
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9 : 14
7 i a4
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. 56 : 91
: 57 . 93




.
.

e oe % e

0 oo se e

ANS .,

To.

. st.

: Off
. Sto

:Per-

ccent
:Off
+8t.

[SL I L I S O I

54
14
24
2l
40
18

LN

. B4
. 45

57

: 56
: 20
: B1

; 98

75
95

. 93

: 87

Gt

b A o B o ) B~ O B o B o |

e av oe

26
10

. 24

: R3

14

* o8 s g0

11

11

17

+ 14

H o o d o

g o

e
: b5
46
D a1
36
! 57

e ae 6 ae se e 4,

. 61

95
75

65

: 60

91

. 76

P e o

. s

® PP 9° e o0 o 3o @ .o - [

o o i, o ¥

15

11
12

GROUP_6

. 17

10 -

18

21

13

e e® 44 @

19

s se s e

tg

12 v B ©5 S e

k=

. 39
. 36

56

- 19
. 6
. 43

67

Y

. 96

. 32

. 100

81

s % a0 9 s




Median % Off St. 81

Con.

+SCHOOL D

.
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.

s oo ae
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No.

2

GROUP 1
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¢ 01T
:St0

s Per-

:cent
Qff
:5t.

3 (o)) o 158 9y} hab) [ ‘

;14
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. 14
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9
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7
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7
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1
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13
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13
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7
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4
8
15
14
7
6

.
.

6
10

17

.
.

: 16

. 14

5
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TR

e}

=
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bog <

. 50
. 36
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:SCHOOL E
: GROUP 1

s Ang,

: : : : : : 01T :
No. : X : G : P . P . U : 8t.: st.:ceat :

s Per-

29.

; : : : :0ft
: : i 8 :8t.
P10} - i - i10 i1+ - iU :22 100
; 2 i 4 : 5 ; 10 ; 2 ; 1 i 7 § 12 ; 54 ;
L o3 .3 8 . 1 7 3 Fo:o2l 95 :
L4 o 4 5 1 4 5 . 14 60 -
L5 - 3 ;10 : 7 : 1 Poio11 52 :
P 6 6+ 5 5 . 3 ¢ 17 . oE
7 4 6 5 5 i 3 U . 18 85 .
. GROUP 2
T R T AR P 100
L2 iz +oz o4 :oa s . p 20 . 87
L5 :moi o1 :omo:1o:i - +om i1 i 70
.4 2 5 :15 : 7 : - + U :26 :100 :
{5 . 1a 8 1 : - i - Fo. 22 i 95
; | 'GROUP 3
A T VR S S S U o:23 ;100
L 2 i 6 6 . B 6 1 : 8 .16 1 72
i 3 i 2 i 5 : 7 : o9 : - .U i85 :100
. 4 i 3 i 6 .8+ o7 : - :U :2a :200:
C o5 e 9 6 + 3 . - U o:20 . o100 .
L6 . 6 7 .4 i o7 s - P i1 . M0 .
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ALL SCHOOLS COMBINED.
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P GROUP 1

¢ AnB . : : $ s s Per-

: No. A G # P : U : 8t. : Off :cent

r s ) : : 5b. 0ff

: st.

© 1 i27 i45 . o112 : 101 : 68 U : 285 : ©

L2 iez :om é 116 . 52 D19 F : 214 64
5 154 :89 . 85 . 81 : B35 : B . g7 . 7B
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L5 : 145 . 111 74 . 17 5: @ 207 i 59 .
4 50 i 80+ 118 . 79 . 28 . U . 307 . 91 .
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5 63 : 86 . TL . 87 .. 21 : U . 307 i 93 .
6 160 : 85 : 46 . 40 . 11 . P 1308 : 85 .
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. 136 :

022 .
. 185 ;
290

. 300

. 211 -

75

926
73

96 -
45 -




fedian %

off 5t. 81

37 .

tGIRLS

TANS .
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oLy
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26

43

51 :
49 ;
45 ;
52

40

67
75
51
15 :
61 :
37 .
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49 -

51 i
10
s
21 :
55

35 -

17

12

13

10 -

b

A @ B

157 -
. 108 -
. 138 -

87 -

126 -
: 148
. 180 .

81
59 :
"3 E
44 ;
o .
76

953 -

6‘\!#()3[\');_:

44
25

78
17

121 .

61 :

59

43

28

GROUP
36 :
59 :
45 |
66 :

29
63

10

43

28 .
59 .

18

H oo & oA 4

; 170 ;
; 163 ;
; 118 ;
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| 1ma
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g © O d
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3 i . A% i 2. 1: B 9 . 58 .
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5 13§ 30 B 3 5. p .15 . 95 ;
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1.: 94 . 2. 15 . 16 2. U 148 : 95 .
2 41: 2B . 27 Zmo: 12+ B : 109 . 7n
3 : 14 : 26 : b5 : 42 : 11 : U : 187 : 92
4 19 27 : Ba. b6+ 14 . U - 136 . 90
5 45 1 B8 1 B4 i o4y 6: U :: 162 i 95
6 84 : 31 : 18 : 17 1. > .14 : 88
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DISTRIBULION TABLE SHOVING THE PERCENT OF PUPILS OFF STANDe

ARD. THE LOWHST PERCIENT OFP FOR ANY ANSWAERS IS WHXE 30-39 GROUP

: SCHOOL A.

SCHOCL D.

-Percent of Pupils : f're- ; Percent
OLf Standard s gquency : QEL

of Pupils : Fre-
Stenderd tquency

40 - 49 . B 50 -
50 - B9 60 -

80 -

5
60 - 69 Loz . Mo -
70 - 79 P

4

80 - 89
90 - 99 . 19 1 100

20 -

59 . b
69 i
79 10
89 8
99 9

81

N g
- +

T -

M o= 91 - : oo =
. s

SCHOOL B. f : SCHOOL H.

40 - 49 40 -

B>
O

O

i

50 - 59
5 60 - 69

[o¢]

[e}]
(@]
!

70 - 79 . 10 70 -
80 - 89 . B 80 -

dol oo ve o

90 - 99 .9 . 90 -
1L = 76 ; :

n

=
<
o

49

.

59
69

(&Y

79 ; 6
® L2
99 11
o= 95 ; 10

SC100L C. : : SCHOOL F.

30 - 39 b0 =~

40 - 49 60 -
50 - 59
60 - 69

70 - 79

-3 o -3 | | el [$)]
-3
(@]
]

80 - 89 . 100
90 - 99 . 12 ;. oy =

100 Bo= 8 1 1

59 i 0B

69

(o}

Y9

(SN}

89 . 4 3
99 . 4
18

97 s
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SCEOOL G.
:Percent of Pupils : Fre- Percent of Pupils :Fre- .
Off standard :quency : Off Stanierd cguency:
50 - 59 1. 40 - 49 : 2 .
60 - 69 L3 50 - 59 2
70 - 79 4 60 - 69 6
80 - 89 13 70 - 79 8
90 ~ 99 9 80 - 89 10
100 ; 7 90 - 99 9
M = 806 = 81
EUTIRE GROUiJ BOY S
40 - 49 2 40 - 49 2
50 - 89 2 ; - B0 - B9 2
60 - 69 | 4 60 - 69 5
70 - 79 11 70 - 79 10
80 - 89 5 80 - 89 5
20 - 99 13 90 - 99 13
- o= 179

100
I

"

79 : 3

. se o

H>
fay)



TABLE IV

SHOWI NG THL RELATIVI STAWDING OF DIfrarild® SCHOCLS
IN AWSWER EVALUATIONW

sNumber of answers ¢ Humber ol snswers :
‘graded off the : -+ greded off the stand-:
:Standard by 30- 79m school : ard by 80-100% of the:
of the pupils : : pupils :

53 : B 4
18 ;D g' 19
16 SR 21
: 14 ; n é £3
14 g A G 26
11 . P i 26

e e ae 08 ee
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CONCLUSIOUS

Study of the tables end charts shows that the
relative rank of the different schools in sanswer eveal-
uetion is B, D, C, K, », F, G. Ychool B, the school
in which gnswer criticism hes been gived s peciel atten-
tion this yesr, is far chead of sny of the other schools.
mhis will be made clear by reference to the table on the
preceding vage.

Phet school ranks highest in answer evelustion
in which the smellest percent of pupils grade the larg-
est number of sanswers off the staandsrd. For exemple,
30 to 79% of the pupils graded 35 asnswers off steanderd
in School B, and in 8School G, 30 to 79% of the puplls
greded 8 of.the a7 aﬁéwérs off stendard. Thet school
renks lowest in vhich the largest percent of pupils grade
the most answers off thé standard.

The stending of the verious schools 1s indiceted
below.

23 of the 37 answers were graded olf standard by
30-79% of the pupilé in $chool B. The other 4 snswers
were greded off siandard by 80 - 100% of the pupils.

18 of the 37 answers were greded off standard
by 30 - 79% of the pupils in School D. The remeining
19 enswers were greded off stendsrd by 80 - 100% of

pupils.



16 of the 37 answers were graded off standard by
30~79% of the pupils in School ¢, and 21 answers were
graded off standard by 80-100% of the pupils.

14 of the 37 answers were graded off standard by
30-79% of the pupils in School E, and 23 answers were
graded off standard by 80~100% of the pupils.

11 of the 37 answers were graded off standard by
30-79% of the pupils in School F and 26 answers graded
off standard bj 80-100% of the pupils,

8 of the 37 answers were graded off the standard by
50—79% of the pupils in School &G, and 29 answers graded
off the standard by 80-100% of the pupils.

19 of the 37 answers were graded off the standard by
40-79% of the whole group of 363 pupils %nd 18 answers were
graded off standard by 80-100% of the pupils.

Considering the entire group of 363 pupils who
graded the 37 answers,- ' |

4 answers were graded off stendard by 40-59% of the
pupils, |

4 asnswers were graded off standard by 60-69% of the
pupils,

11 answers were graded off standard by 70-79% of
the pupils,

5 snswers were graded off standard by 80-59% of
' the pupils,

Béf“ 1% answers were graded off standard by 90-100% of

the pupils.

50,
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And summing up,all 37 answers were graded off
steandard by 40 - 100% of the pupils.

It is significant that comparatively few answers
were graded on standard by even fifty percent of the
pupils, As & rule the excellent answers are graded on
standerd by a larger percent of pupils than are any other
kinds of answers,

Wide vaeriations from the standard sre significant.
The pupil who grades an unsatisfactory answer excellent,
~4 uhits off standard, knows nothing sbout the gquality
of the answer. There are several answers which an ex-
ceptionally large number of pupils graded 4 units off the
standard,

Answer 1, Group 3, an unsatisfacfory answer was
graded:

Bxcellent 207, Good 66, Fair &2, Poor 36, Unsatis-~
factory 13.

Answer 1, Group 2, an unsatisfactory answer was
graded: ‘ ;

Excellent 91, Good 113, Pair 71, Poor 42, Unsatis-
factory 28,

Answer 2, Group 5, an unsatisfactory answer was
graded: .

Excellent 143, Good 65, Fair 34, Poor 33, Unsatis-

factory 13.
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Answer 1, Group 4, an unsetisfactory answer was

graded:
" xcellent 137, Good 90, Pair 50, Poor 52, Unsatis-

factory 12.

Poor answers were graded 3 units too high by many
pupils,

Answer 6, Group & was graded:

Excellent 160, Good 85, Fair 46, Poor 40, Unsatis-
factory 11.

Answer 5, Group 6 was graded:

Excellent 159, Good 111, PFair 28, Pbbr 12, Unsatis-
factory 2. |

It is especially significant that such a large per-
cent of the pupils marked the excellent answers off the
standard, The percent of pupils marking excellent answers
off the stendard is shown in the table below:

PERCENT OF PUPILS MARKING THE EXCELLENT
ANSWERS OFF THE STANDARD

Answer 4, Group 1, 49%
Answer 3, Group 2 59%
Answer 2, Group 3 65%
Answer 5, Group 4 b6
Answer 5, Group 5 74%

Answer 4, Group 6, 45%
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In most cases the number of pupils marking the
excellent answers off the standard is over 50%. Exsm-
’ ination of the table shows that meny pupils marked ex-
cellent answers unsatisfactory., Answer 5, Group 5, an
excellent answer was marked "pPoor" by more pupils than

marked it any other way.
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CHAPTER IV.

EXTENT OF VARIATION

The score for each individusl was obtained by
finding the variation from standard of each of the
37 answers and then adding these variations. The sum
ob tained by adding the 37 variations is the pupils
score, Variations from sﬁandard were added without
regard to sign.

| The following tables give the scores for each
individusal,

Column 1 gives the pupil rank, Column 2 the
pupil's veriation above standard, Column 3, the
pupil's variation below standard, Column 4, the
pupil's total veriation from the standard, which is

his score on the answer evalustion test.



ToBLE V.
lieen = 61.7
IHDIVIDUAL SCORES IH ANSWER EVALUATION

The fTeble reads,- Variation, alove stendard, below
stenderd, totel varietion.

55.

:SCHOOL A. GIRLS

Pupil:  VARIATION . Pupil: VARIATION

sLbove :Relow :wobtel ¢ above :Below Wotel

.

18 26 D17 . 47 . 10

* wnm o as ee ael.

36 57 . 18 . b4 . 4

36 46 | 12

54 4 . 20 . 55 . B

SR N S R
™
3
o

39 a1 el BT . 2
20 . 1z . 41 . 28 . 456 | 14
59 D oar 23 L 4B . 1W

40 46 . 24 . B5 . 71

O @ <N o o W v v

8
8
41 . 9 | 50 . 25 . 47 . 15
L

[
(@]

46 K . 26 . 57 . b

|
[

38 . 1z . 50 . =27 . B4 . 8
122 51 . 1 . B2 . 28 : 51 : 11
13 §”5o § 3 j 53 ; 29 i 54 i 9
14 ; 42 ; 11 ; 53 i 50 i b2 2: 11
15 : 42 . 1z . b4+ Bi: 57 : &
% . 44 . 1z : B6 . B2 59 . 5

57
b8

* By

58
59
59
60
62

62

62
62
63
63
63
63
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.School aA. wirls - continued

:Fupil:

VARIAYION : Pupil: VARTATION
;AbovezBelow fmotal 3' ;Above iBeloW : potal ;
; 55 . 56 . 13 . £B 55 . 79 1 80
| 52 12 - 64 56 74 8 82
36 : 53 : 12 65 57 : 80 3 85
36 . 64 2 66 58 : 86 4 90
VIR 9 :66 : B9 : 87 3 90
38 : 55 12 : 67 : 60 : 94 2 i 9

39 el I

.40 : B6 . 1Bt 69 :

; 41 60 : 10 : 70 1 o2 6 28
S 4z 0Bz - 194 - 71 2 o4l 2 i 43
a5 59 214 U5+ 3 36 9 ;45
s s 6o 6 .73 . 4 .42 : & i 48
45 .59 : 14 .73 5 37 12 . 49
L 46 : 69 B : 74 i 6 : 42 8 50
L a7 i 69 5 :7a + 7 .51 3 54
.46 . ev 5 :75 : 8 . B2 3 . 55
D49 s o3 4 . o9 . a8 7 i o5B
50 : 66 :10 76 10 :50 : 5 55
L sL : o7 3 .76 11 : 44 12 56
LBz T4+ 4 Ty 12 : 49 7 56
265 7T o+ o2 179 13 : 45 12 57
LB i m R AR VR 5 57
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+School 4. Boys - contimed

;Pupil: VARIATION :PUPIL: VARTATIOHN

:Above :Below:vwotal tabove :Below :fdotal :
L 15 . 48 - 9 . B iBs . 64 : 10 . T4
D16 : 49 . 9 : 55 .39 : 6 . 8 : 74
D17 . 44 14 . 58 40 : W6+ - . 5
S8 - Bz . 6 - 58 P4l i 62 L o13 .5
19 . 46 .1z : B8 42 . 68 . -
. 20 ;b L5 . 59 .43 . 78 g1

8l

7
3
21 . 46 .15 : 59 .44 - 73 - 8 . 81
22 i B8 - 3 i 61 .45 i U8 . B -
. : 9

L 23 i 49 .1z : 61 - 46 . "3 82

84

D24 ;47 14 : 61 ::47 : 84
86

av]

.25 : B9 : 4 : 63 : 48 : 84

Do
(o))
.

56 : 9 - 65 49 : 89 88

o7 i B9 : 6 : 65 : B0 : 94 92

.28 + B5 :10 : 65 + BL : O3 99

c: @ o1 W

29 . B8 67 : 52 : 114 101

(&)
(@]
o33
N0
(o2l 02} 0O
(o)
[e9]

: - :SCHOOL A.
«+ 31 ¢ 64 : :

: 32 : B0 :21 . 71 18 26

.33 . B8 : 14 : T2 28 28

36

D34+ 69 : B3+ T 37

36 37

[ B S = L ¢ o)

34

© 36 : 67 : 6 : B 40

[¥Y]
(e
[w)!
[ee
=
N
-3
o
To TN & B~ S o B AV IR o

[
3
»

-3
(SN
=
-3
IS

39 41

av]
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:SCHOOL A. - contimed

;Pupil;4

n
8

9

10
11
D1z
|13
14
15
16
17
18

- 19
. 20
21
2
;23
, 24
: 25
L 26
. 27
28

. 29

. 30

.
.

. Pupil:

VARIATION
. Above:Below :Toftal
P PRE S

41 2 43

36 9 : 45

59 8 : av

40 8 . 48

42 6 . 48

37 12 . 49

41 9 . B0

46 4 © 50

38 12 ¢ EQ

42 8 . 50

51 1 . B2

53 5 . 50

42 11 : 53

ag 1. B

51 5 : 54

B2 5 1 55

46 T

50 5 : 55

44 12 . 56

44 12 . 56

49 7 i B6

47 10+ B

45 12 : 57

VARTATTION :
‘nbove :Below Total:
.31 . 52 : b 57 -
| 32 48 9 57
33 54 4 58
34 46 12 58
35 53. 5 58"
. 36 49 9 58
L a7 44 14 58
38 52 6 58
39 46 12 58
40 54 5 59
41 . 57 2 59
s . 45 14 59
5 ¢ 46 15 59
46 ;43 17 60
45 . 58 3 61
46 49 12 61
a7 47 14 61
48 55 7 62
49 . 4T 15 62
50 . 57 5 62
. 51 54 8 62
. 51 11 62
. 53 54 9 63
. 54 52 11 63
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:SCHOOL A. = couatimued

iPupil: VARIATION s Pupil: VARTATION

Above :Below :Toftal :mbove : below:Total :
5 i 57 6 65 79 i 68 : 5 B
56 : 59 i o6 63 . 80 B9 i 14 T3
57 : 56 P13 é 65 i 81 E 67 : 6 : 73
| : 7

(931

58 : 59 P4 63 . 82 ; 69
59 : b2 % 12 64 83 ‘g9 - B T4
60 : 53 - 12 .65 . 84 : 73 : 1 : T4
61 : 56 i 9 ;66 85 .64 1 10 T4 i,
62 : 59 . 6 65 : 8 : 66 : 8 7
65 : 55 : 10 % 65 . er - 67 . 8 i 715
‘ ' ‘ | . s
75

‘Li

64 . 64 . & 166 . 88 : 75
65 . &7 - 9  :66 : 8 . 62 o 1

66 . 55 - 12 .67 . 90 : 68 "5

SRS BN

&7 . el . 6 67T . 91 . 13 m
65 . B3 . 9 .67 . 92 . 66 .10 i
69 . 62 6 .68 : 95 i 75 . T
70 i 58 i 13 § 69 i 94 i 74 78
‘q1 : e4 . B i69 i 95 . 79
Cp i 60 210 im0 i 96 i 71 79

.73 i B2 : 19 7L i 97 : M9 80

M H o v WG

. w4 . B0 . 21 271 . 98 : "8 81
81

81

.75 : B8 : 14 72 : 99 : 7B
iw6 : 69 : 5 M2 100 : T8

Lo7m o+ B8z 14 :s72 - 101 : T4 g2

W o W o

i Mg . B9 i 14 73 . 102 : 73 82



:30H00T A - continued

sPupil:: VARTATION :Pupil: VARTATTION
s sabove : Below :ypobel 1nbOVe :Below :iotel

. 103 : 80 : B i 8 : 9 : B7 :12 . 49
104 8L i - o B4 110 4 37 i1z . 49
W5 . 84 . 2 ;o 86 11 . 48 . 7T . 50
. 106 : 86 . 4 i 90 sz . 44 .+ 6 i 5O
L 107 v 3 9 13 : 44 . & . 50
. 108 : 89 92 : 14 : 48 : 12 : 50

109 : 94 96 : 15 : 45 : 6 : Bl

g v W

110 : 94 99 : 16 . 44 : 8 : 52
111 - 9% : 8 :101 :17 . 41 .+ 12 . 53

112 : 114 : 6 : 120 : 18 : 48 : 4 . B2

‘SCUOOL B. GIRLS : 19 i 41 : 13  : 54

s
(@

2 : 25 : 3 . 28 35 : 20 : 655
1: 17 : 13 : 30 : 21 : 47 s+ 9 i B6

0: 21 : 11 : 32 -282 : 37 :19 i+ 56

: - .23 : BO : 8 : B3
31+ 4 . 35 ; ; :

50 . 7T . om :z4 i 48 :11 . 59
35 . 4 : 57 +g5 : B8 + 1 59
. 51 ;9 i €0

36 : 10 i 46 21 i 44 .17 : 61
D35 . 11 . 46 28 : 52 : 8 . 60

-3 o2} o > ™ LaV] -
Ol
(o3}
S
o
(@]
n
[ep]

33 . 14 + 47 . 29 + 45 - 18 : 63

8: 55 : 15 : 48 :30 : 42 : 21 ; 63
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:SCHOOL B. GIRIS - contimed :pupil .

Y
]

VARLATION

‘Pupil:  VARIATION o RSSTe : BOIOW
: cnbove : Below: Totbteal 9 49 5
: 31 ; 54 : 9 ; 63 10 40 7
: B2 47 17 64 11 ;o s4 ;14
; 33 59 5 64 12 i 50 : 0
. 54 45 20 : 65 15 . 38 .. 14
L35 . B9 6 : 65 14 26 .7
D36 ;63 3 66 15 40 .; 5
L1 60 6 : 66 16 55 - 16
D ss : 66 2 . 68 17 51 3
! 39 63 6 : 69 18 43 11
; 40 63 T . 70 19 54 1
a1 i 63 8 : Tl 20 : 49 i 7
Laz oM 2 i 73 21 48 : 10
;43 72 7 79 g2 . 51 8
. BOYS | 25 .. 56 3
;> o i gv 7 34 g4 i 57 5
1 33 8 41 25 . be 10
2 a7 7 44 26 : 61 : 3
3 30 : 14 44 27 _i 57+ 7
4 . B 11 45 26 . 58 7

. 5 . 33 13 46 29 . 60 7
D6 i 36 10 46 30 60 D9
D or i 17 46 51 1 65 i 7

§ : 35 11 46 32 : 78 9
: 33 1111 -

yotel:

47
47

fann i



:3CHOOL EB.

sPupil

se e &

.Pupil:  VARIADION
s : sabove:Below : Tot&al:
:o1 25 3 25
- 17 13 30
. 3 21 11 32
! 2" 7 34
. 31 4 35
D6 30 7 37
- 33 4 37
8 36 4 0
9 : 33 & : al
10 . 87 T . 44
P11 : 30 . 14 44
D1z 1 B i 11 . 45 .
P15 36 . 10 46 -
P i s 11 46
D15 B3 i 13 . 46
16 . 36 16 . 46
17 i 29 VEREPTS
D18 ;o35 . 11 : 46 .
P10 155 : 14 i 4T i
£0 N P
21 0 : 7 . oar .
.. 22 35 13 48

23
24
25
26
e
28
29
30
2l

VARTATION

cabove :Below

62.

Totel;

34
a7
37
43
44
44
48
80
45
44
38

14
12
1z

11
20

48
49
49
50
50
50
B0
50

.

ve



;SCEOOL B. - continued

s Pupil: VARLATION :Pupil :  VARIATION

cabove ; Below:Total saAbove ;Below :jotel :

45 - 37 . 19 : 56 : 68 : 63 : B : 66

46 66

s an we

49+ 7 . B6 . 69 + 60
. 47: 50 . 8 i 58 : 7m0 60 67
48 . 46 : 10 . B8 : 71 : 66 68
49 : 48 ; 11 ; 59 i 72 i 63 69
B0 . 58 . 1 i 59 + 75 . 60 69
51: 51 - 8 i 59 . e . 63 70

52 . 56 : 3 : B9 : U5 : 63 "1

= O =N YW oo nMou o

B3 : BL : 9 i 60 : 76 . 65
B : Bz . 8 : 60 . M oML i o .o
D5 iia4d .17 + 61+ s+ o . oom i omg
C B6 . B7 :+ B . 68 + 79 . ows 4 9 i g

57 - 52 + 10 : 62 : 80 . 111 . - : 111
B8 : 45 . 18 : 63 :SCEOQL D. GIRLS

59 : 42 : 21 : 63 : 1 : 283 : 6 : 29
. 60+ B4 : 9 : 63 °6 : 4 s 30
61 . 47 . 17 : 64

2
3
62 : 59 64+ 4 : 29 : 15 : 4p
. L . ;

(CX I
(o)
Sy

s 63 : 61 3 11 s 43

3
[2)
>
[e2]
(oY
o

64 : 57 11 . 4y

Do

65 : 45 0
66 - 59 : B : 65 : 8 + 39 : 10 . 49
67 : B8 7



64,

SCEQOL D. GIRIS - contimed

.
-.

. Pupil VARIATION :Fupil VARIATION ;
i ' fAbove iBelow f Totali , Eﬂbove f Belowiwoﬁal E
2 10 ;38 13 : 51 : B3 : 33 9 42
i 11 f 41 7 i 54 4 ; 41 8 i' 49
o1 . 4z 12 54 5B - 47 5 . 55
13 1 40 15 : 65 6 49 : 6 55
VI 8 57 7 56 - 19 55
D15 au 10 58 8 4 14 58
Lol i 4a 14 58 9 47 12 59
Do . 50 11 61 10 46 15 61
. 18 B 13 64 11 51 11 62 -
D 1. B 15 66 12 53 10 65
:o20: 57 11 68 13 55 8 65
T 6 78 1la 52 12 6
P 10 75 15 57 7 64
25 i 70 4 i T4 16 56 : 9 65
g4 : 80 : 1 81 17 55 - 14 0 .
5 ;79 g i o8 18 69 = 7 6
%5 1 7 L e 19 : 68 . 10 %
27 TRRE 2 62 : 20 . 15 i 3 76 -
26 . B4 . - . 64+ 21 : 62 : 18 80
D1 ozs : o2 30 e3 i oms i 11 86
P R 37 24 i 82 1 6 86 -
’ ' o5 79 1 16 1 95 .



:3CHOOL D.

: Pupil

s PF B3 &% Be S e @

.
.
.

:Above :Below

1

™

3y

<= O o i
*% 38 &9 e *F e e

O @

10

11

12 .

13

14
15
16
17

.r oo

18

19

20 :

21

3

VARIATION

:Pupll :

23
26
28
27
35
29

33
32

36
38
39
41

40

38
47
4z
40
47
49

36

49
48
44

6

VIR o BN \ ST N

19

;10

14

% as 88w

Totel:
29 ;
30
30
35

24

VARTATION

+Below

.44
; 47

50
46
: bl

b3
-
: bl
; 52

5V}
: 56
, bl
b1
56
66
63
70
69
68
75

62
80 7
79

14
12
11
15

11

15
11
14

10

10

13

1o tal:

58
59
61
61

6b.



:SCHOOL D. - contimed

.Pupil:  VARIATIOW - Pupil VARTATIOK :
: iabove : Below: Yotal: cabove :Below Totel:
P47 :oms . 4+ B2+ 15 : 65+ - 63
. 48 "6 s 7 i 8g 16 52 11 63
. 49 6+ 6 i 62 17 57 7 64
: 50 84 i - : 84 : 18 58 10 68
. B1 75+ 11 : 86 . 19 55 12 617
. b2 82 . 6 . 85 . 20 53 15 68
55 . 79 . 16 . 95 . 21 :i 68 3 71
:SCHOOL C. GIRLS D oee 62 9 71
L1l os . g 38 23 67 : 16 73
. 37 4 41 24 71 2 3
D3 31 11 ;4% 25 1 67 8 75
so4 ;41 5 . 46 26 . 66 10 78
D5 i a1 11 . b2 27 . 72 9 81
6 . 43 o i 5g 26+ 77 6 83
R 1 . 54 29 . 79 4 85
. 8 52 4 56 50 . 84 3 g7
i 48 9 57 5. 81 8 : 89
: 10 46 ;12 53 BOYS

D11 52 7 59 1 25 i 7 32
12 44 15 B9 2 30 : 10 40
.18 55 6 61 3 57 . 10 4"
14 54 o i 65 4 58 ,i 10 48




. SCHOOL C .BOYS-co nbi aued

s Pupil:

. 10

. 11

;12

13

: 14

;15

* e PP e oo

16
17

.18

19

20

AV
V]

EAV]
(o

LA X

P 5 9% e Lo 8s ¥ B e

VARIATION ‘Puoil :  VARIAVIOW :
csbove :Below : Wofal: :above :pelow :iotal :
a3+ 6 49 . g 71 5 76

an 2 49 28 74 4 78
34 16 50 29 ™ 2 79
46 4 50 30 75 5 80
48 13 51 51 71 9 80
42 12 B4 : SCHOOL C.

47 g B 1 : 25 7 32
48 8 56 2 36 2 38
54 5 59 3 30 10 40
45 14 59 . 4 37 4 41
51 10 61 5 31 11 4z
60 1 61 - 6 41 5 46
60 2 62 1 7 37 10 47
57 5 62 1 B 38 10 48
58 6 64 : 9 43 6 49
58 7 65 : 10 47 2 49
64 3 67 ;11 34 16 50
65 .3 65+ 12 46 4 50
59 10 69 : 13 43 13 51
54 17 . 14 41 11 52
62 10 72 . 16 43 9 52
69 5 74 16 53 1 54

67.



¢:SCEQQL C. - continued

:Pupil:  VARIADION ‘Pupil : VARIAT IOU

cxbove :pelow :poftel :ubOVe s below :dotel

DI i o4z : 12+ B4 . B9 i B5 . 1z : o1
D1 41 . 8 55 : 40 : 55 . 10 . 68

19: 52 i 4 i 56 . 41 . BB . 15 . 68
L 20 48 : 8 B . 4z + 65 . B i 68
P21 48 9 5 : 45 : 59 : 10 : 69
D22 i 46 : 1z : BB . 44 . 68 . B i 71
D e3: B2 o+ o7 i 59 i 45+ ez . 9 i.m
D 24 : 4L i 156 : 59+ 45 . B4 . o1 i om

25: 54 : B . B9 + 47 - €2 . 10 . 7o

.
*e

26 + 45 : 14 i B9 i 48 . 67 . 16 . 13
B7 : 55 : 6 : 61 : 49 : TL : 2 : 7B

*e

26: Bl : 10 : 61 : B0 : 69 : 5 i 4
29: 60 i 1 : 6L:: 51 . 67 . & . 75
50: 60 : 2: 62 : B2 i 71 i b T
51 : 57 : 5 : 62 : 55 . 68 BT IR
521 B4 . 9 i 65 : B4 i T4 s
35 : 65 i - i 65 i 55 . I
30: 52 i 11 i 65 : 56 . 75 80
35: 67 i 7 i 64 i 57 i 71 80

3 : 56 : 6 : 64 : B8 : 72 o6l

o W Y o,

83

*e e »

57 : B8 : 7 i 65 : B9 : 7T
38 i: 64 : B : 67 : 60 : 79 : 4 : B3



. SCHOOL C.- contimed . SCEOOL E. BOYS

:Pupil: VARTATION S Pupil VARTATTON

:xbove :1pelow :Tofel @ : ETove: below: obel :
61: B : B3 : 87 : 1 : 55 : 7 : 60
62 : 81 : 8 : 89 :

V]

65 : 4 . 69

¢S5CHO0L B. GIRLS

.

6 : 8 : N4
1 : % : 5 . 41 66 : 11 : 77

85 : 0 : 3

(S BN I %

“e 7 o o

78 . 7 . 85

T ¢+ 80 :3CHOOL H.

cCc =~ o ;B N
LA A T
H> 2% (€3] [ap) [
E)—x -
5| [Ye) o o
w (el (&) e
- oF » V]
B> [ex} v} |l
(o)} ey}
S o
(=]
O (w3}
s 128
~3 | ot

W0
N
C
‘.—l
[es
o
(o
e
N
o
(63}
(82
)

es e% Y av 4o wa @ .

14 : 60 : 6 : 66 : 10 : B3 . 7 . 60
. 15 : B1 : 18 : 69 + 11 :+ Bl : 10 . 61

“s e

£17 . 68 : 6 : M4 : 15 : 51 - 13 : 64
£ 18 : B35 : 21 : T4 . 14 : 62 :+ £ : 64
19 : 66 : 10 : 76 : 15 : 60 : 6 . 66




: "SCHOQOL K., - continued

: Pupil: VAR TACION Pupil :  VARIATION

: :_Above:Below :qofsel : :above :3Below :iof&l :

16 : 51 . 18 : 69 : 6 °: 76 : 9 i 85
:17 : B9 : 10 + 69 + T i 84 2 . 8
18 : 65 : 4 : 69 : 8 : 8 : 5 : 91

19 : 66 : & : 74 i SCHOOL .

20 : 68 . 6 : "4 : 1 : 50 i 7 i 57
21 : 53 . 21 i T4 . i s6 i 6 : 62
Se2 i 66 1 10 . 76 47 i 16 : 63
Lex i oes i 11 . 55 : 8 . 63
Lz4 i 83 : 0 i o3 59 : 5 : 64

i 26 : 78 : 7 : &5 65

X3
o2}
>

© o = oo B W,

:SCHOOL #. GIRLS : - 3 70
D1 i B9 . 5 6a ;s D B8 : 15 7.
; L5 i 3+ 66 . P66 - o8 i 74
§ 67 . 3 . 70 . 10 : 72 : 10 i 82

’_J
b

2
5 .

4 i 65 i 8 ;o4 76 : 9 i 85
=

e . 10 . 82 . 12 : 84 : 2 : 86

:SCHOOL F. BOTS - 13 . 8 : 5 : 91

1 : 50 : .7 : 57 .SCHOOL G. GIRLS
& « B6 : 6 : 62 . 1 : m"e i 4 i 76

;3 47 : 16 . 63 2 53 : 16 : 3
4 B5 8 63 3 3 0 "3
¢ B 58 : 15 : 3 4 64 6 70
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:83CHOOL G. GIRLS - countinued

:Pupil 1

17

VARIATION

:4Above :Below :Totsl
: 50 . i2 62
; 57 6 63
; 56 8 64
; 60 8 68
: 58 11 -2,69
§ 64 6 ‘ 70
? 73 - 73

bg 15 73

2 4 76

86 4 90

:Pupil:  VARIAVION
g : Above:Below :ypotel
A
- 60 8 68
7 . B0 12 62
6 11 36 24 60
9 59 - 59
10 4z 15 57
.11 44 17 51
D12 40 9 49
:SCHOOL G. BOYS
D1t s o4 36
5 i 26 28 48
5 i 57 i 6 63
4 56 8 64
. B 86 4 90
-S0E00L. .
D1 s 4 56
D os 26 2g 48
L 3 40 9 49
D4 o4 17 51
D 5 42 15 57
I 59 - 59
- 36 24 80



"L e3 8% A% e e

ALL SCHOQLS

VARIATION . FREQUENCY

25-29 . -4
30-34 . -6
35-39 L 9
10-40  +  -16
45-49 Y
50-54 L a0
55-59 R
60~64 L
65-69 . B3
10-74 39
75-19 ; 22
80 -84 : 22
85-89 i 10
90-94 ; 5
9 5-99 . 3
100-104  : 1
105-109 ;
110-114 : 1

115-119
120-124

¢ DEVIATION

-34.5
-29.5
-24.5
-19.5
-14.5
-9.5
-4 .5

M= 61.56 i A.D. 11.7:
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CONCLUSIONE,

Only a few individuals have scores close to
the standard, The median for the entire group of 363
pupils is 61,5 and there are but 3 pupils with scorés
below 30, fThere are 15 pupils with scores from 30-40,
Forty seven pupils have scores from 40-49,

School B, ranks highest with & median of 54,
The value of the extra training in answer criticism
is brought out by these figures, School B.'s curve
is skewed at the upper end; the other schools approach
very closely to a normal distribution except in those
cases where they are skewed at the lower end of the
scale., |

The possible renge of variestion for the 37
answers isfrom O to 128, Actual variations ranged
from 26 to 100, The median variation from the standard
is 61.5, Since 61.5 is 48p of 128, the median score or
variation from standard of 61.5 represents a grade of
52% on a 100 peréent grading system, Fifty two percent
represents a very low grade of ability, The pupils given
the answer evaluation test represent several of the high-
est class city schools in Xsnsss and liissouri. The
conclusion is that schoolé sre failing to perform their

function in the matter of training in answer criticism,



CHAPTER V.

VARIATION BY ANSWERS

Attention has been given in former chapters
concerning variation from the standard grade of indi-
viduals and of schools. It has been shown that pupils
vary greatly in their ability to evaluate answers,
that there is a difference between schools in ability
to evaluate answers, The variation from the standard
of the pupils as a whole has been considered,

It is now desirsble to study the differant
types of anéwers end account for different degre=ss
of variation among the different answers, Why have
there been a larger percent of judgments off the
standard on some answers than on others?

Have there been more judgments on the gtand-
ard for answers with one kind of a fault than fot an-
swers with another kind of fault? |

Does the percent of judgments'off s tandard
depénd»upon the excellence of the answer?

By reference to the table on page 81, it is
_seen that 101 pupils graded Answer 1, Group 1, 1 unit
off the standard. The stardard for‘Answer 1l is U;

and 101 pupils graded it poor. This gives Answer 1,'

79,



a variation from the standard of 101 x 1 or 101 units.
112 pupils graded Answer 1, Growp 1, 2 units
off the standard, a variation from the stendard of
112 x 2 or 224 units,
| 48 pupils graded Answer 1, 3 units off the
standard, a variation from the standsrd of 48 x 3 or
144 units,
27 pupils graded Answer 1, 4 units off the
standard, a veriastion from the standard of 27 x 4 or
108 units, The total variation of Answer 1 from the

standerd is the sum of the products just. obtained,

80,

Adding the products: 10] + 224 + 144 + 108 = 577 units

variation for‘Answer 1.
The following table shows the variation of

grades from the standard for all 37 answers,



81

TABLE VIII.

SHOWING THE NULIESR OF PUPILS WHO GRADED 1HE ANSWERS 1 UNIT
OFf STANDARD, THEE NUILZER WHO GRADED 2 UNITS O SDANDARD,
THE TU.JERR WEO GRADED & UNITS OF" STANDARD, ALD THE HULESR
WHO GRADED 4 UNITDS OFF STANDARD.

Medisn Variation B501.

GROUPL

‘Number.answers: Units: Veries llumbver:.nswers Units:varia-:

of : 0ff: tions: of L off:tion
-Pupils: :Stand-: : Pupils: . Stand=
s . : ard : : ard:

101 ¢ 1 + 1 : 101 : 184 : 5 : 1 : 1

112 .2 i ge4 i 44 .2 . g8

a8 : L3 . 14 : ;
: -,

2

Totel Varietion 577 s fotal Varistion 292
133 2 135 : 208 : 6 : 1 - 208

70

lav}

"8 : 156 : 55

e : 3 ; 66

1
i
N R T

: Total vVariation 289 ; PTotal veriation 344

2170 Z : 1 : 10 : 56 : T : 1 . 5s

av]

8"

174 : o . 2 i 1b4
': : : e : 99 . B . 29y

i : - ; S L4 osp

} Dotel:verietisn . 344 i potel:Varistion . 881
95 : 4 : 1 : 95 '

L e - P .

L a0 . 3 . 60 : : :

15 . D4 e , : :

f Total Veriation 285 ;

= e



GROUP 2

s umber

canswers; Units:Verie-:Humber:iansweas: Units

:Verie~

: of off :tion of : off :bion
‘Pupils istand-~: :Pupils: :otand-
: card : . v card

Y-
: 71

¢ 113
21

10t o1 i oap
D oe i 142

5 i 339

4 . 364

2
-

61 : 5 : 1
242 L1

8l
484

Potel

Veriation 887

Totel veriation

565

¢ 168

D114 ;
; Totel Variatiod 386 §
D111 ;3 .1 . 111
A VR 2 148

17 3 51

. B 4 20

,; fotel Veristion ' 550;;
T 4 ¢ 1 i 79

118 o2t 118
.80 L3 240 :
L 50 . 4 . 120
: Totel Verietion BbY



GROUP &

CNumber: inswers: Units: Varis-~:Humber:answers:Units ;varia-:
- of . off ; tiomns : of .+ off :tions
"Fupils: (Steand-: :Pupils: - :5tend-:

t 1 ;erd 3 ; : rerd

% : 1 : 1 + 3 . 8 . B . 1 . 87
: . 142

o

ze R ST VNP & R

W

86 .3 . 198 : 86 258 -

. 207 . . 4 . 828 : 6B - . 4 . 252
. Dotsl Veriastion 1126 . totel Veristion 739

57 |

3

gg : 2 . 1 - 88 -« BT : 6

[AVERN oo

61 : 2 . 122 . &5 170

480

»

63 : 3 . 189 . 160
15 L4 - 64 . , :

Totsl Veristion 463 . otel Veriation 707 |
% : B3 : 1 : 98
107 :

. . .
. . .

g
68 - . 3 . 204
s 38 4

i Totel Veristion 644

£ 108 : 4 : 1 o 108

g2 164

av]

b7 171

s s

5
. 46 - s 4 . 184

; rotel Variation 687



GROUP 4

B4 .

:livmber :inswers: Units:Varis- :Number :Answers Units :Veria-:
: of : ¢ off :tions : of off :tious
:Pupils :5bend-: -Pupils :Stend-

: : : ard 2 iard .
2+ 1 . 1 52 68 5 . 1 . 68
50 Log 100 56 L2 1le
90 : 270 22 . 3 66
157 . 4 548 6 4 24
Totel veriation 970 Totel Variation £70
151 ¢ g : 1 151 5 ;6 i 1 65
87 oz 174 65 2 130
o : 85 3 249

: 84 . . 4 336
325 Totel Verietion 780

Totel Veriction

143 3 . 1

C112 sz

. es

Totel Veristion
66 ;4
80
82

64 :

Totaul Veriation

> »
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GROUP b
s Number: snswers*Unlts :vVeris- Number :aaswers : Units :Veria-
: of off :tion of : : off :tion
:Pupils: ‘stend-: ‘Pupils :Stand-
: : card : : . rard
69 11 69 64 5 . 1 64
48 2 i 196 Bg 2 108
29 3 87 78 3 225
29 4 116 26 4 .. 104
Totel Veriation 368 - Totel Veriation 501
33 ; 2 : 1 ’ 33 51 : 6 . 1 51
34 2 66 53 2 106
65 ; 3 195 72 3 216
145 i 4 572 85 4 340
Potel Veristion 866 o tal Varietion 715
63 8 1 63 100 i 4 ; 1 100
80 e 160 45 22 90
62 3 186 42 3 126
47 4 188 59 P4 156
Total varistion b9 Total Veriation | 47g ;
t 102 4 i1 :ioe :
b3 b2 : 106
59 3 .17
21 4 84
rotel veriation | 469
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GROUP 6

T NUmMbEer.:AnSWers:ynits :varie-:number :answers: Units :Varias-
. of : off :tion = of : ¢ off :tion
Pupils : :Sta nds :Pupils :stand-

ard : : : rard
07 ;1 .1 iio7 : s : 5 i 1 : 0
23 2 . o4e . 111 2 . e
50 L3 120 i 159 iu 5 . 4m
: . : : 2 :

52 208

Dotal veristion 481 rotsl Varistion 729

.

189 s : 1 +129 . 161 : 6 : 1 i 151
a1 : 2 i 82 : 60 : 2 . 120
15 L3 i 45 ; : '

Total Verisbion 266 .  fotsl Veristioa 271
B4 i 5 1 . 54

I ;o2 o128

101 g . 3 i 303

71 . 4 i 284

Totel veariation 769
9 4 ; L
. B3 g 5 . 66
17 . 3 i 51

Totel Verietion 224
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TABLE IX.

DISTRIBUTION TABLE SHOWILG THE TOTAL VARIATION OF EACH
ANSWER FRO0M THE SILNDARD.

1M = B01

tPotal variation:

Answer 3 Group :Prom stendsrd : Stendard

: 4 : 6 : 224 . B

2 6 256 . P I
5 4 270 iom
B 6 ; 271 - I
4 1 285 -
2 1 289 - T
5 1 292 ' T
: 2 4 325 - I
3 e 330 b
‘ 3 1 344 - I
6 1 : 344 - I
3 4 367 FoooI
1 : 5 368 U I
2 2 ; 586 7 I
: £ 3 4653 "
4 5 469 Ly 0
7 5 ; 472 - 0
1 : 6 481 - 0
5 5 501 . B
4 2 557 i 0
5 2 565 P ow. I

e ffe 48 6 ae 4u se S we as as 8 e Se +0 sb w
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sotal Varliation:

Answer Group :from Standard Standerd
1 1 577 U D
3 5 597 U T
4 3 627 U 0
3 3 644 U 0
6 3 707 R 0
6 5 713 U 0
4 4 230 U0
5 6 729 P 0
5 3 : 739 U D
3 6 : 769 U 0
6 4 i 780 U 0
7 1 : 831 i 0
2 5 i 868 U 0
1 2 : 857 U 0
1 4 ; 970 U 0
1 5 1126 U 0

Ne se oo

e a0 9 os €3 o0 " s e

"

Mean = b4b

Median = 501
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VARIATIONS IN NAMING THs PaULTS IN &£NSWERS:

Potent questions in regard to faults in answers
are:

7o what extent ere pupils able to tell what is
Wrong with answers?

In What.ways do pupils differ in ébilifw to name
feults in enswers?

Fow do snswers differ in difficulty of evelua-
tion?

There are three mein types of faults in the
answers in the evaluation test,- 1incomplete aunswers,
answers thnet are off the subject and answers that are
too broad. Thhe following teble shows the numbver of.
pupils who called each answer incomplete, off the sub-
ject end too broad, respectively.

The teble &lso shows what the main fault in the
answers is and the percent of pupils who gave the wein
feult for each enswer. The percent of pupils is beased

on the number of pupils who ectuslly nemed some fault
for the snswer.

91.
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PABLE X.

VARIATION IN NAKING FaULTS

"

GROUP 1
Answer Pupils :Pupils :Pupils Kein :Percent
umber : Celling :celling :calling :Pault in:Pupils
: Incomplete : OLL sub-:To00 Broad : Aunswer :Giwing
: :ject ; :Right
: :Pault
1 163 11 100 7. Br. : B4
2 1039 2l 86 .Br. 39
3 68 55 93 inc. 31
4 40 10 41 -—— 66
5 99 33 119 T. Br 47
6 38 : 26 an ?. Br. 42
7 50 i 44 103 0. S. £8
GROU®Z 2
1 P o125 i 33 24 0. 5. 18
2 : 86 105 58 Inc. 35
3 101 i 10 19 -e- 52
4 ; 112 57 60 C. 5. 24
5 ; 20 2 33 1. Br. 60
GROUP 3
1 28 ; 21 44 Q. B. 22
2 62 26 63 ———- 41
3 69 52 i 124 0. S. 14
4 a7 +105 i 79 0. 5. 45
5 i M0 i 60 0. 5. 59
6 27 27 bl Qe D= 25

L A4
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2 ae av ee ae v o

2¢ 48 we as me oo
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Answer
umber

.
.
.
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GROUP 4

Pupills
Calling
: Incomplete:

: Pupils

: ; Pupils
¢ Celliag: Celling
0ff sub: Too Broad:in

: ILisin

tPeult

:Percent
:Pupils
1 Giving

4 ject : chAnswer :Right

: : : Peulsd
1 © 5 3 . 49 L 0.5. . 24
2 : 107 ;20 i 45 Tac. : 60
3 . 110 . 20+ 40 . lac. : 60
4 T T 63 §  0.S. : 22
5 . 2+ 10 1 om . -=- i 85
6 61 . 67 . . 0.5. . 38

GROUP 5
1 © 2 . 143 ¢ 5B D fne. s 11
2 Y T 0.S. : 36
5 . s i 58 i 6 D oo a4
4 R R . 0.5.: 15
6 M P 0.s. : 26
7 . s . w5 . b3 © 0. S.. a4
Group 6

1 T MY Doous. s om
2 L 104 36 . 96 . Inc.:: 39
3 P S [ o.s. . 16
4 Cow o1z . 49 S
5 A N Ys : 0.5.: 11
6 .89 . 24 i 86 © oo, . 44
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GROUP 1

GIRLS

asnswer
Number

.
.

Pupils
:Celling
:Incom-

:plete

. fupils : Pupills . Lein s Percent
:Celling ;Calling ;feult In:Pupils
®0ff Sub-:i'00 Broad :Answer :Recog-
s ject : ' : :nizing

: : : v : s FPault
: 1 P 109 4 :o0om L u.sr.. 36
g 2 . s . 13 . b4  p.br.s 36
: 3 P ;s i 64 . Ine. : 50
o S T S A
, 5 Y R ! . g.pr.. 51
; 6 L0 . 18+ 27 L G.Br.. %
; 7 . 35 . g4 78 . 0.5. .

: GROUP 2

; 1 R . 0.5.: 2B
; 2 . Bl . 45 i 7 i Inc.: 38
; 3 . s . 2 . 12 o
: 4 L ez . B4+ 50 . 0.5. . 26
: 5 L 1 . 2 i 24 . p.Br.. 61
: GROUP 3

: 1 A R P 0.5.: b
; 2 R - Do L 4
: 3 T SR L 0.s. i 13
: 4 2y : 64 . 44 L 0.s. - 47
L 5 . za i 36 i 3 .+ 0.5.: B8
: 6 c o i 14 . om . 0.5. . 22

** se e we

s e wa

s ws ae e g

LR X1

e % se e o3

XN 1Y
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GROUP 4

Pupils : Pupils : Pupils : Mailn :Percent
answer :Calling :Calling :calling crault ia:Pupils
Number :Incom- :0ff sub-:Too Broad :Answer :Giviag

:plete :ject : tRight

:Fault
35 ; 18 ; 25 ; O. S.é: 22
5b ; 14 ; 20 ; Inc. ; 61
61 ; 12 ; 20 ; Inc. ; 65
43 ; 20 ; 3b ; 0.5. § 20
12 i 6 ; 22 ; e ; 67

(o T & T S N R A A

34 .33 . 1T : 0.8.: 39

31 i 24 : 39 : TeBra: 515)

15

eSa 3 2b

< o0 oo o

Q‘“ 5 -

> Ay
)
-3
o~
W
(@]
[ O
.

0
19 ©43 i 28 L0, S.: 47

1 . 9 : 94 : 15 : 0. 5.: 719

V]
o
SN
av]
P

53 . Inc. : 46
0 : 15 i % L 0.s. i 19
i 34 L e
0+ 4 o+ 15 . 0.s5. . 13

a o b W
o
o

51 .12 . 44 : Inc. s 47

se P? we e . e
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BOYS GROU? 1
H . : Pupils : Pupils :Pupils :lelin :Percent
: answer :Celling :Celling :Celliag ifeult in:Pupils
Number :Incomplete:0ff sub-:To0 Brosad :Answer :giving
: :ject : - :Right

: :Pault
; 1 N . o.pr.. 26
; 2 N T . p.pr.: B4
; 3 23 ; 18 . 29 ; Inc. : 32
: 4 v . &+ 15 P e 1 B9
; 5 3 356 2E 38 T.br.§ 40
; 6 & . 8 : 220 . 0.r.. BB
: 7 15 : 20 g5 . 0.5.: 33
, GROUP 2
; 1 : 50 . 5 i 16 . 0.8.: 0
i 2 . 0 . @ . Ine. : 31
3 w o+ 8 i 7 L - B
: 4 50 i 235 . 30 L o.s. i g2
: 5 7. o0 i 9 . p.Er.. 86
; GROU 23
i 1 14 s 9 . s L 0. s.r 20
; 2 . 33 . 16 . 28 N
L s i 30+ 15 . BT i 0.s. i 14
: 4 © 19 41 35 0. 5., 43
: 5 i = . s i g6  0.5. t 40
: 6 : 10 . 15 . 20 . 0.5. . 50
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GROUP 4 .
: _ :Pupile :Pupils :Pupils iHeln Percent
§ Answer :calling :cealling :celling :Peult in:Pupils
: Number :Iacom- :0ff sub-:700 broad :Answer :giving
: :plete :ject : iright
£ ? s :fault
; 1 ; &4 18 24 G, S-: 28
§ 2 ; 52 6 p15) Inc.:§ 62
; 3 ; 49 8 20 Inc. ; 63
: 4 ; 33 : 20 £8 0.5. ; 24
; 5 : 16 4 19 - 66
6 i 2 34 27 0.5. 40
GROUZE
i 1 9: , 64 27 Inc. 9
; 2 11 13 14 0.5. : 34
; 3 25 14 46 T.Br.: b4
& 61 16 29 0.5. . 16
; 5 36 10 13 —-—— 39
; 6 21 18 2 0.5. 41
f 7 20 38 £b Dede 2 41
GROUP 6
, 1: 1 . 65 10 0. 5.: 72
: 2 i 41 i 15 43 Inc. ; 41
: 5 ;4 - i 8 33 0.5. : 12
: A 15 -—- 74
: 5 : 16 . 4 13 0. 5.: 1z
: 6 . 38 . 1g 42 Toe. : 41
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vr wal,
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INCOLPIEYE  : 700 BROAD . 037 SUBJECH :
Afl=  :Group :Per- :ad- :Group ;Per- .ANSWer.Group rer-
swer :HO. :cent :swer : [o. cent-:; lio. : No. . ceant -
Ho. :0f o, . -of : : .of
3 :Pupils . ; Pupils; Puglls‘
1+ 86 11 F o1 i o1l sl 5 1 11
5 .1 s . oz . 18 8 , 5 1 1
2 e s5 . 6 . 1 . 4 4 1 5 1 1
2 6 39, 3 . 5 . 4. 3 . & | 16 °
6 . 6 .44 . 5 . 1 . 4 1 7 2 18
e 14 .60 . 5 . 2 . 60 1 > 3 g2 °
5 . 4 .60 i : 7 i 1D ee
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CONCLUSIONS

The lowest variation from standard is shown
for the excellent answers, Pupils have greater abil-
ity in recognizing an excellent answer than they have
in detecting poor and unsatisfsctory answers, Prac-
tically €11 the answers with a veriation from the
standard of 224-367 are excellent, fair or good, There
is but one exception and this one is, poor, The great-
est veriation for an excellent answer is 501,

Although more ability is shown in evaluating
excellent answers than for the low grade answers, yet
the ability in evaluating excellent answers is very
low.

Only 54 percent of the judgments on excel-
lent answers were on standard,- in 46 percent of the
cases pupils did not recognize an excellent answer
when they saw it or distinguish it from less satis-
factory answers,

some of the poores£ sanswers are statements
that have been copied in the exaot_words of the text,
For example, Answer 1, Group & is an unsatisfactory

answer which was copied verbatim from the text. Uuost
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of the pupils marked this'answer eicellent. It has a
total varistion from the standard of 1126,- the greatést
veriation from standérd of any answer. The same situa-
tion is found in>the case of other obviously poor'or
unsatiéfactory‘answers which have been copied word for
word from the originél paragraphs,

The main fault is not recognized by a majority
0of the pupils in many of fhe answers. For exémple:A,'
. Answer 2,'Group 1 is too broszd and was called
nIncomplefe" by 109, "Off subject" by El,vand "Tdo bfqadn
by 86, |

| Answer 1, Grouptz; is off the subject and was
called "Incomplete" by k23, "Too brosd" by 24 and "Off
sub ject™ by 33.

Answer 4, Group £, is off the subject and was
called "Incomplete™ by 112, "Too broad" by 60 and "Ofi
sub ject" by 57. |

Answer %, Group 3, is off subject and was
called "To; broad” ﬁy 124, "Incomplete™ by 69 and "OQOff
sub jectby 32, | |

Answer 4, Group 5 is off the subject and was
called "Incomplete" by 103, "Too broad" by 72 and "Off

sub ject" by 33,
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Oﬁ some of the answers pupils' judgments

are about equally divided. Examples are, Answer 5,

Group 5; Answer 1, Group 4; Answer 6, Group 4; Answer

2, Group 5; Aunswer 6, Grotp B,

Pupiis have less ability in evaluating answers
which are off the subject:

a, The variation of answers which are off subject
is uniformly greater than the vaeriation of in-
complete and too broad answers (See distribu-
tion tabley),

b, The percenp of pupils Whovrecognized the meain
fault in "Off sub ject'" answers was prooor-
tionately less than in the "incomplete" and

"Moo broad" answers.
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CHAPTER VI.
. SUMIARY OF CONCLUSIONS.

1. A large percent of the pupils marked answers off
the staﬁdard. The median percent of the judg-
ments that 414 not agree with the standard mark
was 79%. lNinety to 99% is the model group of
Judgment s off the stendard, That is, a larger

. number of answefs were marked off standard by
the 90-99% group then by any of the lower per-

cent groups,

2. Possible variations of individual'judgments from
the standard grsde adopted for each of the 37
answers, range from 0-4; depending on whether
the standasrd grade of fhe gnswer is excellent,
good, fair, poor or unsatisfactory. ~The low-
est possible total variation, sum of the variations
of the 37 answers, is 0, and the highest possible

 vyariation is 128, Actual variations in judgment

range from 26 to 100, The medisn variation from
standerd is 61.5, Since 61.5 ié 48j% of 128,
the median scoré or varistion from the stsndard

of 61.5 represents a grade of 52% on a 100%



104,

grading system,
This grade of 52% is the median score of 8th
grade pupils from several of the best city

schools of Ysnsas and iissouri.

3. Pupils who have had some trsining in asnswer evalu--
ation and criticism have greater ability in
4grading answers than pupils who have had prac-
tically no. training. As is shown by the me-

dians, the school which trained in snswer
evaluation and criticism ranzxs best both in
‘regard to percent of enswers off standard and
amount of varistion from the standard.
The medians for the various schools are as follows:

School ljedian % off Standard gchool  ledian extent
of variation

B 76 B 54
D 82 c 57
c 83 D 61
G 88 G 65
A 91 A 63
E 93 B 65
iy 97 ) 70
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School B; in which pupils were training in answer
criticism ranks best both in perceﬁt‘of answers
off stsndard and extent of variations from the
standard,

The differenee between the median éercgnt of f stand-

~ard for School B and School F is 21,

The difference between the mediaﬁ amount of variation

for Schéol B and School ¥ is 16, These differ-

ences are rather lsrge,

4, Boys and girls rank sbout the seme in ability to
evaluate answers., In extent of variation,
the modal group for the girls is 66—64, for the
boys it is 54-59, The medien in extent of varie~
tion from the standard is 63 for the girls sand
55 for the boys,

In percent of pﬁpils off the standard. the modal group

for the girls is 80~-89%, for the bbys it is
90-99%. The median percent off the standard

is 81 for the. girls and 79 for the boys.

5, gome types of answers offer greater difficulty thean
others. Answers which were copied verbatim from
the text and low grade sunswers gave the most

difficulty. The answers which were copied
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verbatim from the text and the low grade snswers
were graded farthest from the standard. Eight

out of ten answers which showed the greatest varia-
tion from the standerd are answers copied almost
word for word from the text, All of these ten
answers showing greatest extent of variation from
the standard are unsatisfactory answers, except one

and it 1s a poor answer,

ixcellent answers show the least variation from the

standard, but only 54% of the judgments on ex-
cellent answers were on standard, The variation

of the excellent answers was high.

6. Answers with certain kinds of fanlts have greater varia-

It

tion from the standard than others. The 14 an-
swers with the greatest variation from the stand-
ard are all off the subject except one, It is
significant that the incomplete answers and the
answeré that are too broad, as a group, have the
lowest variation from the standard and the an-

-

swers that are off the subject have the greatest

variation from the standard,

is also shown that pupils have less proficiency

in recognizing the main fsults in answers that are

off the subjecf than in answers that are incomplete
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or too broad,

main purpose of this study is to show the actual
facts in regard to pupils' ability to evaluate
answers, It has been shown that pupils have
very little ability in answer evaluation. And

comparisons between different schools have shown

that some schools renk much better than others =~

in ability to evaluate answers. The school rankf
ing highest uses the socislized recitation, In
the socislized recitation is found a method of

instruction that affords speciegl ppportunity for

trining in sunswer evaluation,
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